F6

8 |a

¥ LHW - EHTWH

RHEH

=R G LD

EE-J=F

IE LHRELHEBR

R

B R MAZX=(+5v7),

REREE WHHRE

EEMELHRRKRE

- (BY) EBATHRERS

- REFFE LSRR

A
=

FH28%(2016%)10A8H (L)
HRIERER (T 1 —IL F)

sLERSE

SRR
(A Rix R B
9:00[<%Y EIGED 0.9m/sec. 22.0 °C 64.0 %
10:00[<%,Y) ELED 1.2m/sec. 24.0 °Cc 64.0 %
11:00[<%Y FED 0.5m/sec. 25.0 °Cc 68.0 %
12:00(<%Y D 1.1m/sec. 24.0 °C 62.0 %
13:00(<{Y D 1.0m/sec. 25.0 °Cc 60.0 %
14:00[<%,Y) EXEED 1.3m/sec. 25.0 °Cc 54.0 %
15:00(|<%Y EED 1.5m/sec. 24.0 °C 54.0 %
16:00|fFh Ed 1.8m/sec. 23.0 °C 54.0 %
AKE&ETHILL =508k
H5X-3&H Sk [BEFRECEE) 95X & 508% &7
INEEF [60m R B HE IEAER3) INF- FAJISC 10.2 0.0 |KREH
INEEF [100m FiE A& BRO) INEE - FHR/N 13.2 +1.7 | R&EZ2A
ZF ek R INK ZE(2) BR-EARES 3m20 AESH
INFEZF [60m R XiF BIER) INSE-BEHIRARAC (9.9 +0.5 | K&
INEZF [100m R AfHF BE(6) INE-BEHIRAKAC  [14.1 +0.4 | K&H
INEZF [100m P FREETG) INE-BEHIRAGAC  [14.5 +0.4 | K&H




¥ 6 8AEEMELHERE

i AW LEHWEHEZEAES - B LEATREHS
EREYEZES - RBEELFEBEHS
¥ LTHELHEHS )
REREEFE—RRE
T F [54518) 204130 FHETERE RIS
EA ~ ofi ~ 3f1 At 511 6t ZCE _8f1
A/H i H BE KA FE i HKEK&EE i BKEK&EFE i K& E i K& E i K& HE i BKEK&EE i BKEK&EE ol - S
10/08 | & ¥ =B HME1) EB-RFER 13.6|85K EF(2) 14.2/ 8Kk A& () 14. 4 /v 8k BHTE (1) 14. 78K FHEH () 14. 8| /iR FETE 14.9/'8# FE#H 1) 15.1
100m FEK B () %‘*&-LE&%@E.—, ER-REHER ER-EATRES 2R-REFAR B -NFIEZES —H8- £ HAC = LHAERER
10/08 R BAEZE (2) 28. 6557k B (1) 28. 7|5 %t BE(2) 29.3/@A+ £(2) ER-AFEEES 20. 8| = FE#E () 31.1[4&mE W) 31.5|5@ EBZX (2 31.8
200m =ER-LAEAES =R LAZEAES R ERef =R IR Q) BER-TFEATFE =R LAZAES =2%-EtEE B - AFIEZES
10/08 B ELcFA)  2,33.9/@N EE) 2,35. 5=k FR(2) 2,48. 1Nk FE () 3,07.0 RS BH&&#(1)  3,11.3
800m =2%-EtEHS ER-LtHAEAES SR -T8FIEAE ER-EATRES BR-EHER
10/08 +1 HfRE EERE1) 18. 5|/ #k F71E (2) 19.3|AHE BX=(2) 20.3
100mH =% FETFHE - ERe B -AFEBZES
10/08 BRIR R (Q) 1. 45/ ek BHAE (1) 1.30| KA BREKF (2) 1.30
£ =Bk E-LtHEEAES BR-EHER BR-HRES
10/08 INFE = (2) 3.200&F xFQ 2.20|/5R ERBE (1) 1.40
BE Bk ER-EAREE XKEHER-EFRER 2R -RHER
10/08 WisE BEBEL(2) 4.82(+1.7) [;E/KFHAL (2)4.82(+1.2) {PFHREBFEE(1)4.381.1) [FAEFASEF (2)4.38H1.1) ( KNBKKF (2)4.35+1.8) [FH &) 4.31(+1.8) = mE 1) 4.21(0.0) |mEF EEN) 4.16(+1.3)
TE S Bk BREAN U-4 B AFBZES =R J:EH‘—E.—, 2&-tHE B -HREE ER-EATRES 2R-RHER BR-BFREE
10/08 IR BEFEF(2) 7.79(d 0 FREk (1) 1.08| Elj &) 5.86|# K EF(2) 5.49
A& 2R-RHER B -BHRES =% A BER-RHER
10/08 ER KB (2 27.86| HKik «<EmMm() 26. 44|/pE EE (1) 23.46 &1l FEEK (1) 19.81//h#k EZEF(2) 1714/ kR #&F 1) 13.83|KBA =EH (1) 13.28
M 2% =R LAZEAES B -BHRES =2-HRES =2 -HRES 2R RHAER = REEN =2R-1eEHE
10/08 FHE £AQ 26.95|@A HBEN) 19.59|[:R =Bk (1) 17.49
»UY#% SN =R NG 2iR-RHER
10/08 RS 14,38.9
4x1000mR B XacFA)
Bl F050)
f&E )
mEFA BEF (2)
10/08 & F +2 A #EHE= () 13.5| Ak EE() 13.6[FMA & (2) 13.8 ikt BE(2) 14.0[tE@EFH Z () 14.0/51% %1 (1) 14. 41N k% F2TE (2) 14.5
100m hZ-Fikh th- Eigth - NEERD - ERS$ h= -2 AAC - ERf R ERSE
10/08 F1F# FER (2) 7,32. 7/RPE Era (1) 7,50. 9% BmEKkE ) 8,02.3|&FF #IP(2) 8,05 4 /A E=XF=(2) 8,05.8FT FEN) 8,23. 1//p#k 1EEZ (1) 8,23.3|fEE #%F (2 8,26.7
2000m the. FAEMh - Fdtd - R Fibd - Fwib - FRAERS - FRAERAF - FHERG hE FAERS
10/08 [EHE BREE (2) 1.50|xE FoH () 1.45\80ZF 85 (1) 1.3 & TEFL(2) 1.30 8 F EHFE2) =z -Hmitd 1.3/ th#t #x(1) = - 82 3 RASAC 1.30
E= Bk th - 823 RAGAC R - 82 H R ASAC R ERS$ - Eib s K& BHHEA) P2 LHFEMAE BE HEQ hFE-LRAFERG
10/08 IR HBIK (2) 28082 &) 2.70/fkHB FHEE(2) 2.00 5% =31 (2) 1.80 2 =E(1) 1.80|KJIl ERk (2) = - A o 1.60{£18 =% (1) 1.40
BE bk - R - R R - 8RR AGAC R 823 RAGAC R - 82 3 RAGAC ER FLNA) - FHE— fhEE - 823 RAGAC
10/08 TEIFOMN(1)4.980.4) |/t #EA) 4.54+1.0) |LbkBEF Z() 4.41(+2.5) |&21U E£75(2) 4.30(+1.8) KRARBE2)4.23+1.1) 18 =@ (2) 4.21(+1.6) 5 f£3L(2) 4.16(+0.8) HWHEKZ(2)3.81(+0.3)
TE 1S Bk theg - B2 RAGAC R - 82 H R ASAC - Z AAC hE- FAERF - Eaiesh het- FAEMAG Ak ok A - FAEARS
10/08 wiE EFHA) 8. 46 My St (2) 8.09/ 5K ¥ 1U7(2) 7.86\ZBI% & (1) 1.73 /@Il g (2) 7.51%ZE BREN) 1.48 518 &) 7.39|FiR #h(2) 7.23
A% he- FRERS - NERG h- FAEMG - FAEMAG het- FAERS het- FRERS h2- FAEMG - NEERG
10/08 FAREFRHQN) 16,07.4 | EBERRPB) 17,38.8
4x1000mR A EWM I OFEE (1)
INKR 4R (1) HE HEQ
g &3P QA) AR YLV
WH EXRE(2) ZE BRE0)
10/08 |/ME&F +0. 5 K#F%F BIEQ) 9.9k BE (2) 10. 3| A 21 Q) 10.5 &% ¥E1EQ) 10. 8/;ZHE ¥t (3) 11.0/F1&F #EQ) 1.2/l BER(3) 11.5
60m INF-BRHIRARAC KREH|/IMNE-EAN -4 INE-BEHVTYVEE INE- EEJISC INFE- EHEJISC INFEEAN )4 INE-BAVIYVERE
10/08 +0.4 K% BE (6) 14.14£18 R (5) 14.5/%K 85 (6) 15.0 =i ¥# (5) 15.2 &8 TE%x (6) 15.4|FBK &1t (5) 15. 6| KEE =0 (6) 15.7
100m INE B FHIRABAC REFH|/INE-BRHIRABAC KEM|IDEEALN -4 - EAJISC INE-ERAC INE-TRF{E A INF-TRF{EATE
10/08 fTER 27 (6) 3,29. 2|18 4 (5) 3,33. 4|85 K ZE (6) 3,35.2|5H# FEG) 3,56. 2|1k = (6) 3,56.8|MA E1t (5) 4,05.6/#;R #5(b) 4,06.6//E =i (5) 4,07.4
1000m INE- KB RKEFH/INE-ERYFT INE-BEHYIT - EAJSC NP N-R INE-BERERVIIVERE - EAJSC INE-TRFIEATE
10/08 KFx BEG6) 4.34(+1.2) |Ap 2%6) 4.02(+2.8) |21 Z6) 4.01(+1.4)|FEB 3£ 6) 3.78(+1.5) |=iF #H B) 3.711(+0.7) |37 £ () 3.57(+0.5) &8 BEM.(5) 3.51(+0.7) |¥& &= () 3.51(+2.0)
FE 1iE Bk N - ERFHIRASAC INE-EHAC INE - TRF{E AT INE-EAAC - EEJISC N - ERHFIRARAC N - BR HIRASAC N - REFFHHE




¥ 6 8AEEMELHERE
I L£BW- LATEFEZRESR - (B) LETREHS
RHEYERER - REELBEBR
FE LHELBRRHBS

RBEGR—ER ‘
% 7 [E5515) 204130+ MiEps L s5i1e
T o 3 — afm — 5fm — 6l Tm ~ 8
B/H @ 5 EE K& TR H BESFE i BES FHE E BESFE E BESFHE X BESFHE E BESFHE i BES FE Sl
10/08 SFIE A (A) 54 63 TRFIEAF(B) 13,53.98
4x800mR il %7€ (6) EH FEH@)
KE BF(6) HEA BILTE (4)
RiE £ (6) HH B4
PTE ZT (6) IE BEW
10/08 /NEA1-2-3% A& BIEQ) 19.08 52K NE Q)  17.38 FiF #(Q) 1257818 BEQ 10. 41[ i BE ) 9.97/%7] 4 (2) 9. 25
Y yn" Yy -1 1IN - BEH RARAC 1N - AAC N AN Y- I R JSC INER AN - N - B
10/08 /N5:4-5-6% 55 95 (5) 35.25 P17E =74 (6) 34.65 Il Z1E (6) 32.22 18 B2 (5) 31.48 BB HZER4) 2675 8K FE(6) 2407 &R % (6) 22.66 S8 B (5) 20.70
Y 4N Yy b -1AR N B Y57 N - TRFHERE g - TRFERE g BB HRE N B ETSYRE N - B Y57 N TRF R IV FEJSC




xZF

B3 10H8H 1255 |
100m
XEFH 12.6
R
[ 148] REE +0.9 [ 248] BE +1.0
IE| L- | No. K £ R4 ek wE | |[IBE L-v No. K £ R4 R HE
1 6 1032 8K EF (2 =R 14.2 1 3 1033 =@ mE0) =R 13.6
YYSE k] EHER 39 t#h EHER
2 5 1291 &K AE (1) =R 14. 4 2 2 1468 FAKk B (1) =R 13.6
AR ¥ 79h EAERES Y32~ ab LTHESAES
3 41 1034/ #k BHTE (1) =R 14.7 3 5 1390 &K FHEL2) Ea& 14.8
an ¥y EIh EHER YIX FTE AFEFES
4 2 1469 =ik FE# () =R 15.1 4 4 176/ /iR FE1E —h% 14.9
Hay FTHZERES 4% Y b/h Z AAC
3 217k & () =R
#hy Thi EWmEEs Ri5




%F
100m

FALL—R

IE6Z No. K # #HERFIR =k Rogk (&) "= # | MRz
1. 1033 =@ mR0) =R RHAR 13.6 (+1.0) 2 | 1
1 14685FK B (1) =R EBRREAES 13.6 (+1.0) 2 | 2
3 1032 gnAR HF(2) =R AR 14.2 (+0.9) 1 1
4 1291 &K RmE (1) [l EAERES 14.4 (+0.9) 1T 2
5 1034/t BHTE (1) =R RHAR 14.7 (+0.9) 1.3
6 1390;F5K FE#L(2) =R NFEFES 14.8 (+1.0) 2 3
1) 176 iR F87E — % 2 AAC 14.9 (+1.0) 2 4
8| 1469 = & (1) =R LHRRZB/ES 15.1 (+0.9) 1 4




j-? RB 1108 8H 114:10 |
REH 25.5
R

[ 1481 BEE +1.0 [ 248] & +0.5

IE L-» | No. K £ R4 ek wE | |[IBE L-v No. K £ R4 R HE

1 5/ 4318 &%t BE(2) =2 29.3 1 2| 1465 kR BHEZE (2) &8 28.6
Thh7 hy3 ElRd 03 TAh LTHESES

2 3 1469 =itk F#E () B 31.1 2 4 1468:FKk B () B 28.7
Y1y +f LTHESES Y32~ ab tAZAES

3 2 1429 fkm@ # () B 31.5 3 5/ 1391 At & (2) B8 29.8
EL MY rtHE 410 ¥4 AFEFES

4 4 1393 HH EZE(2) B 31.8 4 3 1032/ AR (2) B 29.8
199 9t HFIE 2 IYN Y 4R 3 T&F1E A




%F
200m

FALL—R

IE6Z  No. K £ #HERFIR ARA & (&) fi% & # | NEHL
1 1465 kR BAEZE (2) =R LHEREARES 28.6 (+0.5) 2 |1
2 1468 7FK B (1) =R FHRA/ES 28.7 (+0.5) 2 | 2
3| 4318 it BE(2) aa FlRH 29.3 (+1.0) 1 1
4] 1391 HH £ (2) =R NFEFES 29.8 (+0.5) 2 3
4] 103)i=pE FR (2) =R T&FE A 29.8 (+0.5) 2 4
6 1469 =i & (1) =R LHREA/ES 31.1 (+1.0) 1 2
7. 1429 k@ # (1) =R tHEE 31.5 (+1.0) 1 3
8] 1393 FH BXE(2) =R NFEFES 31.8 (+1.0) 1 4




%7
800m

RE

10A8H

114:00 |

REH 2,16.0
REB
& No. K £ ARA R IEE
1 1 1430 #B8F RLF (1) BK 2,33.9
7h7 113 tHE
2 4 1470 Bl =E(1) = 2,35.5
b9 319 LHRZER/ES
3 6 103 =k FR (2) =R 2,48. 1
MY AR T&FE A F
4 3 1292 Mk FE() =R 3,07.0
T4b0 Bt EAEHRES
5 5 1012 kR b#40) &% 3,11.3
Th° 93 F13 RHAR
20 1466 B x> h (2) &K
bh Y 1vh LEZEB/ES Ri5




xZF

100mH

RE

10A8H

11:45 ]

REH 14.9
R B
JEE +1.5

IE L-» | No. K £ R4 R HE

1 3 1488 F® BEEX(1) B 18.5
VR E rTATFHE

2 41 43T ETE(2) i 19.3
vy 7 ElRd

3 2| 1393 5@ EZE(2) B8 20.3
195 9t AFIEEED




%F
4x1000mR

R B
IE \-v FTR% No. E £ gk EE
1 4 EH7T 1430 #B# FL2F1) 14,38.9
914" 3y AAT 13

1428 B F0AQ1)
EE® vtno

1429 &M@ # (1)
35 31

1426 FHEFA #5FI(2)

~v/4) 1)

RE

10A8H

[15:25 |




HELZF

%% 10A8H 9:00
A 10A88H 12:50
100m
AESH 12.8
TR BERE ME O0F + 7 O IEHIEEBE o: 54 LIEEBE
[ 148] BE +0.7 [ 248] BEE +1.5
IE| L- | No. K £ R4 ek wE | |[IBE L-v No. K £ R4 R HE
1 3 4199 tkmHF E () R 14.0 q 1 7 4874 |k EE() R 14.1 q
k54 Y Z AAC 494 h akn g
2 6 4318 ¥t BE(2) R 14.3 ¢ 2 40 4317 /h#k ETE () h 14.4 q
Thh3 L3 ElREd an vy 7vh FlEmh
3 1 4297 ik BE Q2 = 14.9 3 5 4669 H7 EE(1) R 15.0
AIME D N ah 4% LAFEMmH
3 7 4665 5H B3 (2) R 14.9 4 6/ 4689 /NHk 1BE (1) = 15.3
199 LAFEMmH N Y %55 rTAERF
5 2 8716 Al # A8 (1) R 15.4 5 3 4642/ /M F BEA) HhE 15.5
LEIRVIES Ritr hd 7ot +FHAFEMA
6 4 4690 f=@ ZE(1) i 16. 1 6 2 8712/#%@ WY (1) R 15.7
795 714 rAERF 4 1) Hitd
7 5 430308 T AN () HE 16.5 7 1 4183 £% &3 (1) R 16. 1
A A3V L 91/ 74Y EHAC
[ 3%8] RE +0.4 [ 4%8] RE +0.9
IE| L- | No. K £ R4 ek /W= | |[IBE L-v No. K £ R4 R HE
1 7 5620 A #EHFE(2) | 14.0 q 1 3 4299 1FEA F A& (2) = 14.0 q
hF 1%7 it vhe 1 R
2 4 124/4&1B ZEQ) = 14.9 2 6 4325 G fF (1) = 14.3 q
#1439 2 RARAC HH 7YY ERH
3 3 4644 #HE BKR() i 15.1 3 5 4662thA #E (2) i 14.8
we M LAFEMmH LSS LAFEMmH
4 2 4687 BT FEQ) i 15.4 4 1 8713 &M X (1) R 15.0
1795 91 rAERF 7AYot it
5 6| 4298 £E HFZZ(2) = 16.7 5 20 A182|FK THRFZ (1) R 15.5
YFY 73 INBEER Y3I2" 1Y LA
1 4663 = &% (2 heg 6 4 4688//h#k #E (1) = 15.8
Yh M7 LAFEMmH Ri5 vy piy rAERF
5 4321 8K £=E(1) i 11 4641 =# =45 (1) i
AR F 123 FlEmh Ri5 Ivay 3t FHEM™G Ri5
R B
JEE +2.3
IE| L- | No. K £ R4 R HE
1 2 56207 #E/EQ) HE 13.5
hF 1%7 it
2 5 4874 /il EFE() R 13.6
1948 akn g
3 4, 4299 1FA F A& (2) = 13.8
Yhs Tt INEER SR
4 7 4318 dh¥t BE(2) i 14.0
ISEVE FlEmh
5 3 4199 tkmEHF E () R 14.0
E5 4 )y 2 AAC
6 6 4325 G #wF (1) i 14.4
Wi+ 7YY ElRd
7 11 4317 Ik EZ1E () i 14.5
N vy 7Yh FRd




PELF
2000m

RE

10A8H

[13:45 |

REH 6,46.8
R B

IE No. K £ R4 &k WE

1 4 4659 FAF PER(2) i 7,32.7
A4 W +rHRFEMmMH

2 11 4499 ”iE EF () g 7,50.9
9Fh Y bt AFih

3 8 4503 % mRE () g 8,02.3
MY 1h AFih

4 2 87100 &£# #IH (2 ok 8,05 4
hr4 i b

5 5 4671 A EKE(Q2) HF 8,05.8
yng 34t rTRERF

6 15 46872 T FE() i 8,23.1
17945 91 FTHRERG

7 1 4689 /N#f 1EE (1) g 8,23.3
an vy #3535 EFHERF

8 16 4674 EEE #%HF () i 8,26.7
75" 47 A2 H LHERF

9 12 4495 WIE =k 3) ol 8,34.1
DFE Y IHF AFh

10 9 4688 /1 #k #8 (1) g 8,34.7
an vy pIy rTRERF

11 13] 4691 #iE P () i 8,38.0
47 19 rTARERF

12 3 4690 f=@ ZE(1) i 8,40.6
795 TH FHERS

13 7 4672 1L £ (2) i 8,56. 1
AR Y 3/ LHERF

14 10 8715/ luA &) ok 9,15.7
Wy 41 ik

15 14 4673|@JIl & (2) i 9,17.7
) VIR rTARERF

16 6 4686 ZE AR (1) i 11,40.7
74 F MEI FHERS




PELF
4x1000mR

REB

V

R4

No.

K #

iR IEE

RE

10A88H

[15:25 |

IE V-
1

3

LTAERF N
9184 {1 FanA

4687
4688
4691
4671

2T ¥
1994 Y1
INFR AR (1)
vy pIy
wmiE #F] Q1)
RGRVIEY,

WHE EREQ2)

Yoy 34t

16,07.4

LTAERF B)
9144 {3 F19B

4689
4674
4672
4686

IR FEE (1)
Y %353
#E HEQ
7947 AR
ANREILEV))
AR YY1y
=E B (1)
T4 F M1

17,38.8

FR
7YnNGF1n

4325
4318
4324
4317

i #F (1)
£ 7y
A BE(2)
Thh7 LYz
HiE (1)
Y40 T
INER FETE(2)
vy 7

R 35




NEZF

%% 1088H 11:05
RA 10888 13:30
60m
REH 10.2
¥R BEEE 348 0% + 7 OIELIEE:BE o: 44 LIEEBE
[ 1#8] &A:E +0.5 [ 28] JRuE +1.7
IE| L- | No. K £ R4 ek wE | |[IBE L-v No. K £ R4 R HE
1 1 131 &k EE2 (D) INEE 10.5 g 1 7 165 &£H ZE7E Q) INE 10.4 ¢
¥t L4t {EAN -4 18 Favh BEEVGIVEE
2 3 170 hE FEZH Q) IhNE 12.0 2 2 143|518 %1 () = 10.9 g
hy hut BEEVGWVEE 4y 7Y FMJISC
3 2 151ph I FE Q) INEE 12.0 3 3 133 F1; #Q) INE 1.1 ¢
mo ot L+ HJSC h Nt PEAL -4
4 5 101 #H &F&=() INEE 12.0 4 4 138 EH BE(Q INEE 11.8
17 Tt T&FIE A 594 13 FHJSC
4 164 4% AT () INEE 5 5 1M71%70 #Q2 INEE 12.1
MY 3217 L HJSC Ri5 iy Y BE/EY57
6/ 156 FZFE xE(3) INEE 6 144 3H =52 INE
N 3H L+ HJSC K15 v v3 L+ HJSC R 15
[ 3] A +2.3
IE| L- | No. K £ R4 R HE
1 6| 129 K#ZF ®HTEQ) INEE 9.7¢q
THEY U4h 2 RAGAC
2 3 157 :%HE ¥t0 INEE 11.0 ¢
7HY TYT L+ HJSC
3 2 168 LO Ex(3) INEE 11.6 g
Y F v BEHVIIVEE
4 71 109 JIIE Eek (1) INEE 12.0
h7R A1 T&F1E A
5 4 172kRAK INE Q) |IhFE 12.2
#3311y Z AAC
5 163|#% < 5 (3) =2
MY A3 FmJsc R 15
R
JEE +0.5
IE| L- | No. K £ R4 R HE
1 4 129 X#ZF BTEQ) INEE 9.9
HHEY bMh B3 IRAGAC REFH
2 2 131/1xik BE (2) IhNE 10.3
¥y b4F EAN -4
3 5 165 &£H ZE7(3) INEE 10.5
18 Favh BEEVGIVEE
4 3 143|518 %1 () = 10. 8
BNy 7Yh L+ HJSC
5 6/ 157 %@ ¥t0O INEE 1.0
7HY TYT L+ HJSC
6 7 133 F1% %) INEE 1.2
7 h EAN -4
7 1 168 1LA E&(3) N 1.5
Y F Y% BEHVIIVEE




NEZF

%% 10A8H 1005
A 10A88H 13:15
100m
AESH 14.5
¥R BEEE 64 0% + 7 OIELIEE:BE o: 44 LIEEBE
[ 148] BEE +1.5 [ 248] RE +0.8
IE| L- | No. K 4 R4 ek wE | |[IBE L-v No. K £ R4 R HE
1 4 134/#5K #5(6) INE 15.0 q 1 40 125418 R (5) INE 15.0 q
hyE 1 EAN -4 #I% HA° i B2 IRAGAC
2 6/ 166 €M Bt (5) INE 16. 1 2 5 148/ =& ®&#% (5) INE 15.7
S b) BEHVIERE 197 ¥+ L+ HAJSC
3 7 158 KB E#(5) INE 16. 4 3 2 179 k7% & (6) ING 16.7
Tty 3t L+ HJISC $h9 bR RAEF
4 3 155 FiE MIGEM@) IhE 17.1 4 7 139 &4 B O5) INE 16.8
FI47 Jbn L+ HJISC hH4 £ L+ HAJISC
5 5 150/ ZEF (5) INEE 17.8 5 6 174 €& L (6) N 17.1
vy 7 L+ HJISC Jh ot 4 Z AAC
6 2 113[EEBM BLTEW@) IhE 18.3 6 1 14 5H REEW@) % 17.9
MB{YY a3k T&F{E AT 4h4 11 L+ HAJISC
7 1 161 Bl E=EFG6B) IN#F 19.8 7 3 146 ¥R 8 (5) INE 18.4
NIFYY B33 L+ HJISC D T L HJISC
[ 3%8] BE +1.5 [ 4%8] RE +0.4
IE| L- | No. K £ R4 ek /W= | |[IBE L-v No. K £ R4 R HE
1 4 128/ K% EE(6) INEE 14.2 q 1 4 104X &It () INE 15.5 q
) 40 B2 IRASAC XEH NER AV T&FIE AT
2 2 113EB f£E% (6) INE 15.6 q 2 20 177/fIE &2 (6) INEE 16. 1
ANTIY 2 HAAC AT 17 KEFE
3 6 178 EIL &#HLE(6) [/ 16.2 3 5 154/ 2K BEF(5) INE 16. 4
Y 3FY KEFE AFEF Y3 £ MAJSC
4 1 145 5H# FEO) INE 16.5 4 6/ 152 /NE K (6) INE 17.6
134 /Y 3 L+ HJISC 1V M L+ HAJSC
5 3 16227 E () INE 17.1 5 1 142 5% ZE () INE 18.2
79th 3t L+ HJISC a0y IFI L+ HJISC
6 1 160 #E BEF @) INE 17.7 6 3 1471=3# EZ6) INE 19.9
9 E A L+ mJISC 94 nth L+ HAJSC
7 5 102 H#H BZE @) INE 17.9
17 1t T&F{E AT
[ 5%8] RAE +0.3 [ 6%8] BiE 0.0
IE| L- | No. K £ R4 ek wE | |[IBE L-v No. K £ R4 R HE
1 6/ 111 KE Z#(6) INE 15.5 q 1 2 135 HE% EH3A) INEE 15.7
moh 3t T&F{E AT hth 1%) RIHJAC
2 2 175 B+ %(6) INE 16.0 2 6/ 123 $k/E £ O5) INE 16. 1
4th T4 ZAAC a5 bt B3 IRAGAC
3 5, 131/BETF #71E6) INE 16.3 3 5 140 Z#H £ (6) INE 16.3
Rz Nav)! FMJISC 29l 4 FMJISC
4 4, 167 ¥FH EBE4) INE 17.7 4 4 105/ZEME FHE@4) INE 16.6
#9354 % BEHVIVERE ks v il T&FE AT
5 71 149 L 7D ER (4) INE 17.8 5 7 136 FIl £%(5) INE 17.4
F L+ HJISC Ivhy 37 L+ HAJSC
6 3 153|kE HFL(4) INE 18.7 6 3 159 %&:Z Bk @) INE 19.0
2/ 1Y L+ HJISC 447 319 L HJISC
R B
BAZE +0.4
IE| L- | No. K £ R4 R HE
1 5 128/ K#% E&E (6) INE 14.1
) 40 B2 IRASAC AEH
2 3 125/{&1B R (5) INE 14.5
#14 AR B2 IRASAC X&£484
3 4 134/ #5K #5(6) INE 15.0
hyE 1 EAN -4
4 1 148 =@ ¥%#% (5) INE 15.2
197 ¥+ L+ HJISC
5 1 173 &E& f£E%x (6) INE 15. 4
AN RY N LA
6 2 104X &It (5) INE 15.6
NEN AV T&F{E AT
7 6/ 111 KE Z#(6) INE 15.7
moh 3t T&F{E AT




IhFEZF
1000m

RE

10A8H

112:25 |

REH 3,29.9
R B

IE No. K £ R4 R HE

1 70 1TTBIE 287 (6) Iheg 3,29.2
FA" 17 KEFE KEH

2 3 11414 &5 0) N 3,33.4
YR Yk BEMR)57

3 9 1198k FEH£ (6) N 3,35.2
AR ¥ TF BE/EY57

4 6] 145/5H FE0O) = 3, 56. 2
134 /3 L+ mJISC

5 5 179 &% & (6) Iheg 3,56.8
#+9 nbh AEF

6 4 166 £MA EETE () N 4,05.6
138 b4h BEHVIIVEE

7 2 146 ¥R 8 (5) Iheg 4,06.6
D T L+ HJSC

8 8 107/ /E =0 0) = 4,07.4
NYEM  3ER T8FIE A F

9 10 140 Z#H £ 6) = 4,08.0
hyhlr 34 L+ mJISC

10 11 1788l #H T (6) /= 4,11.5
9397 3T KEFE

11 1 118 &7 55 4) = 4,28.4
T T4 9% BE/EY57




k4
INEZF EY) T0A8H 1450 |

4x800mR

R B
IE -0 FiR% No. E 4 gk EE
1 4 T&FEATFE (A) 106 Tl 7€ (6) 11, 54. 63
TA-TUN I7 #9574 1Fh7  13%
111 XEE Z%0(6)
Hyh o vt
107 HiE Ei(5)
NYEd 3D
112 #ie £75(6)
4t 71
2 3 T8FEAE (B) 106 #H FE @) 13,53.98

T4-TUN 17 #9574 v e Y1)
113 H@E#% BD1E @)
LYV
102 #H BEXZ@)
17" 1t
108 JIlE TEE(4)
h7h3 433




}2-__,2 B3 10H8H 7 9:00 |

ZE &8k

KL 1,60
R
IERL B o - E % RS 120 1m25 130/ 1m35 1m0 15 1m50 a8 mE
174 1460 BER %k () B _
il 1034%”;{”1(1) LE%@E% 0 0 0 0 XX0 XXX 145
N BETE B
i,'q‘w“’,;;”’ " E%ﬁﬁ 0 0 X0 XXX .30
32 1251 AW BREQ B
3 41 BRES 0 X0 X0 |XXx 1.30
1 1428 Al 205 () =i R15
EE" vEem FES




}2-__,2 RE 10H8H 7 9:00 |
el
=
& 5 5k
REH 3m00
R
. E % . 31:]1148 31:]128 31:]1388 2m00[ 2m20[ 2m40[ 2m50 2m60| 2m90 | 3m00 e .
1 41300 /p#k = (2) =15 - - - 1-"1- 1 "1- 1- 1-0 3 90 AR
¥y ht EARES 0 0 XXX :
2 3 1029 £F £W Q) =15 - - 10 [0 X0 XXx 5 20
hta1 39 EHER )
3 2 1011 &R EE() =15 X0 XX/ 140
EAYy 4% EHER ]
17 1033 =@ ™E) =15 R 15
34 Tt EHER




fﬁ‘?[% By 10A8H 1330 |
o
REH 5.58
R
NERL | & ton - K 4 A =
19 132 L mEQ) g oL B . . f L =T e = WL
#v95 1) FEAK Ik 480 | 480 | 476 | 4.66 | 482 | 478 [ 4.82
20 12 1390 K FEELQ) &K N N S A ey A
VIR FTH T ' : - : . 4.82
37 1488 (FE M (1) %gﬂi‘%ﬁﬁm +)(2.3 21.12 .7 +1.4 1.2 +1.2
by 333 TEATHE -1 9 | 411 | 435 438 420 | 438
41 B EHA FHQ  BE 419 426 A2 421 a1 43 43
=y/4) %1} = ' - - - - . 4.38
5 8 1250 FHy BRE Q) %gn 21.35 +)1(.1 +0.8  +0.4  +0.6 | +1.1 +1.1
6 6 1290 B A= (1) Bh C1PR I N B T R 1 4.8 4.8
734 7t EAFHRES o4 418 12 3.50 - - 4. 31
71 1033 =@ HE®D B Ll 4s sl a8l 421 38 42
4+ = ' ' - : : : 4.21
8 4 1245 mE FiE () g%ﬁg AR 22'1(2) Zzié 5093 509?1 4%8 ;0'72 ¥
N Fh PR ' : ' - : : 4.16
9 10 176 KR #&fE %ﬂﬂaﬁﬁ +>1<'1 +>1<'3 A1 +0.5  +1.8 | +0.7 +1.3
AR, 8 HAC 3.9 3.96
10 3 1029 &F £FQ) =g 3.13 | 3.80 ' 0.0
h%3 39 EBER 4 +1.3 beg 3.80
2 1034 /k BATE (1) % ' ' : +1.3
¥y EIh EEEn R
5 1012 E8 5aAH0) B
YR FH3 EHER x5




}2-__,2 B3 10H8H 17:00 |
XeH 13.02
R
IEGL | B$| ton - o K z&) : E% -1- | 2= | -3- | -4 | -5- | -6- | %z ES
1 4, 1030 /p#k EFEF =157
o W,;;ﬂ( ) E%%%% 7.79  6.62 7.00 7.41 6.25  7.29 | 7.79
23 1247 sy R (1 =15 708
W 7%(1) ﬁ;},{ﬁ% 7.02  6.79 6.92 6.44  7.08 6.98 .
3 2 13718 LE ¥ =R
HJI';‘E it () ifﬂ%ﬂﬂ 5.67 5.45 579 586 568 577 5.86
4 1 1032854k BF(2 =15
N Emes 4.91 4.91 500 549 | 454 545 549




xZF

RE 10A8H - 9:00 |
K2 H 39. 60
R
IEf6 B o - = %EE (;’% . il -1- | -2- | -3- | -4- | -5- | -6- | iEEF ik
1 T 1463 F[7 £E (2 =
AN 71 J:E%@E_'% 0 217. 86 0 X 0 X 27.86
2 6 1246 ik KEm®) =R
LM 12* o E'T"*{iﬁ_'% X 0 26. 44 0 0 X 26. 44
3 2 1244\ /INE > =
igufﬁ;;q 0" %‘ijﬁ% 23. 46 0 0 0 0 X 23. 46
4 4, 1247 =R
1_”;; iy (2) E'T"*{iﬁ_'% 19. 81 0 X 0 0 0 19. 81
5 5/ 1030//h#k ExRF =
N EY Eg( | E%%/%% 0 0 17.14 X 0 0 17.14
6 3| 1378/ k[m & (U =
gé'\aj;wj;% 0 igﬂlﬁﬂq 0 13. 83 0 0 0 0 13. 83
7 1 7148 KH I =R
o+ LtE=s 12.38 0 0 13.28 0 0 13.28




xZF

B3 10H8H 17:00 |
XeH 39.76
R
IEGL | B$| ton - . %&E} (2)% i E% -1- | 2= | -3- | -4 | -5- | -6- | %z ES
1 3 1331 &M = o5
oy’ 5? o i\f 0 126.95 0 0 0 X 26
2 1 1334 ‘A BHE = 5
;Z"’ % o ,J\i% X [18.13 0 0 0 [19.59 | 19
3 2 1011 /AR EmEd =157 17. 49
EO4D SHE Emas X 16,99 | 0 17.49 0 0




HELF

RA [10A8H - 9:00 |
E 5t
=i
K& 1.55
R
B BtE Fon - ﬁi (2)% . FES 120 1m25 1m30 1m35 1m40 1m45 1m50 1m55 w5 mE
1713 122 mE B = _
M i ; EE#;RA&AC 0 0 0 0 0 X0 XXX 1.50
2 11 130 £2 F0h =
b 55 RAGAC 0 0 0 0 X0 0 XXX 145
3 10 4324 ﬂfﬁ;ﬂﬂ) ;Em 0 0 X0 0 XXX 1.35
4 8 5628 ;1;:/%74*%%(2) ;im 0 X0 X0 X0 XXX 1.35
5 4 5636 HE;;'; ﬁfﬁ(” ;im 0 0 0 XXO XXX 1.35
5 7 4666 K& BmAE () i
ik Ty Lgwme 0 0 0 X0 XK 1.35
7 9 126 TH# #x() =2
1715 g% . %#;’RA&AC 0 0 0 XXX 1.30
712 A6TAFEE BEQ = 130
3549 A% 4 L@EED 0 0 |0 XX 1
9 3 459 ﬁf/fgf“) iE%_ XX0 0 XXX .25
10 6 4300 /NS B Q) s
]4;5 74§( | g:\%iq: 0 X0 XXX 1.25
111 4660 24 BEEQ = 1.20
SIS FEgEms il I
2 4297 EK B Q) g - GES
AIME IR INEER T _ .
5/ 4595 TN &5 (1) =a)-2 XXX Eix 2 AN 0
gh8% 11/ rEE—




HELF

RH [10H8H 19:00 |
o =
75 Bk
=7
REH 3.00
R
[ E £ FEL 21;15(()) 21;151(()) 1m60| 1m80| 2m00 2m20| 2m40| 2m50| 2m60 | 2m70 43 =
1 6| 7898|/\#k HK(2) g - - - - - X0 0 0 X0 0 2 80
anwyy 14 [Reh 0 XXX i
2 8 7897 %= &FQ) g - - - - - X0 0 - 0 0 2 70
3 TUR [Rep XXX :
3 2 120/1&H EEZ(2) g - 0 0 0 X0 XXX 9 00
35 11 B3 IRAGAC :
4 7 121/15%F =31 (2) g - 0 0 X0 XXX 180
Yt/ by B3 IRAGAC :
5 3 12782 E1E() g X0 0 0 X0 XXX 180
Ry 3 B3 IRASAC :
6 4 5201 \KJIl &Rk (2) i - 0 0 XXX 1 60
7 493 AR )
6 5 4599 FE# (L) g 0 0 0 XXX 160
SINVIL LHE— )
8 1 12414618 =FE (1) g X0 [X0 XXX 1 40
$I¥ YN B2 IRAGAC :




HELZF

AR 10A8H 13:30 |
ENE ek
/-4
REH 5.09
R B
IR B o - K £ g4 -1- -2- -3- -4~ -5- -6- soE% 5%
1 16 130 £ ZoOH (1) Fee X 4.9 4.9 X 4.9 4.9 4.98
¥ &/h BX FRASAC +0. 4 +0.9 +1.7 +1.1 +0.4
2 18 126 tist =) Fee X 4.40 4. 41 4. 44 4.54 4.53 4.54
1F47 743 B RARAC +1.2 0.0 0.0 +1.0 +0.9 +1.0
30 19| 4199 tkkEA#H = (1) e 4. 41 X X 4.17 4.21 X 4. 41
k5 4 Y 2 AAC +2.5 +1.5 +0. 4 +2.5
4 200 4672\ %14 EH(2) =o)=) 4.14 3.82 3.95 3.92 4.08 4.30 4.30
AF Y 3y FTHRERG +2.2 +0.2 +2.2 0.0 +1.2 +1.8 +1.8
5 15| 5632 KAE H{EQ) e 4.01 4.04 4.23 4.04 3.20 4.16 4.23
T 1k Ritr +1.2 +0.7 +1.1 0.0 +0.7 +1.3 +1.1
6| 21 4661 8 =& (Q2) =o)=) 3.50 4.10 4.06 3.717 3.89 4.2 4.21
FhY° v 319 FHREMG +1. 4 +1.2 0.0 +0.8 +0.5 +1.6 +1.6
7 13| 5628+ B FE3FL(2) e 4.05 X 4.13 4.08 4.16 4. 11 4.16
FhY° v hY b -0.7 +0.6 +0.6 +0.8 +1.7 +0.8
8 9 4671 3MA EKZ=(2) =o)=) 3.80 3.57 3.34 2.12 3.81 3.38 3.81
Yy 34t FTHRERG +1.3 +0.9 +0. 1 +0.9 +0. 3 +1.5 +0.3
9 14| 4302|#m:ZE FZE(2) Fee 3.72 3.50 3.62 3.72
49 443 INEEER +0. 7 +2.2 +0.9 +0.7
10 10 4324 #n;= 85 (1) e 3.63 3. 61 3.47 3.63
EIVVIES ElRd +0.6 +0.3 +0.9 +0.6
11 4| 4502 Fith FE) Fee 3.44 3.48 3.49 3.49
EMZUERR HFIs +1.3 +1.8 +0.3 +0.3
12 3 8718|#%=ZE ZTARE() e X 3. 21 3.45 3.45
7Y 49 113 Ritr +0.5 +0. 4 +0. 4
13 8 4325 HWF #aF (1) e 3.38 3.15 3.37 3.38
W+ 7YY ElRd +1.1 +1.0 +1.3 +1.1
14 7 4667 /=L BiE (1) g 3.02 3.33 3.26 3.33
1399 I3 FHREMG +2.9 0.0 +0. 4 0.0
15 11| 8719)iE:E =R () e 3.19 3.09 2.96 3.19
74Fa" 3% Ritr +2.0 +2.9 +2.0 +2.0
16 5 5620"TIN #£&F=E(2) e 2.94 3.10 3.08 3.10
49F 137 Bl +0.7 +1.3 +1.2 +1.3
17 2 87141k EHE() e 2.72 3.01 2.91 3.01
by 72 b 0.0 +0.8 +0.5 +0.8
18 11 817 /h#k BE) i X 2.60 2.75 2.75
an vy 1t Ritr +1.8 +2.1 +2.1
19 6 4303 &R AN (2) Fee X 2.53 2.48 2.53
A A3V INEEER +0.5 +1.7 +0.5
120 4322 BB £k (1) e X X X soERA L
3% 3% FIRH
17 4300 /MR FEHE(2) Fee X X X soERA L
MR 74 INEEER




HELZF

RE T0F8H 7700 ]
RS
REH 12.35
RB
J"Eﬁ"]L §i\ii‘3‘§ TJ4/%9-1 - EE 1% . &% -1- | -2- [ -3- | -4 | -5- | -6- | ifk "s
EE g ShRenal
58 a EA SauTr@  we 555 oz [7as T30 15 |
o i 7.07 7.82 6.26 7.86 7.21 .71 7.86
IS = =)
: ‘Z ;‘2‘75: %Ei"?f ;E:EZ ;,EE;E%EP 6.85 7.30 670 6.73 773 672 1.73
Bl B i 5.66 7.17 7.21 651 751 733 7.5
LI i 6.84 7.48 7.36 111 1.42 675 7.48
1) 6] Ae0pBIMy & (D i 6.93 691 7.39 7.02 698 7.26 7.39
e =
2 i ;‘?:; igqijgm ,z\%iq: Z;Z ZT: ij 6.66 6.44 6.74 ;22
04 aREKEERD  we o o5 o5 o
3 SBAO BFEO  wE TV 2
21 s Ee AR R sz |
mh e i 510 5.04 5.0 5.10




INEZF

RB 1108 8H 111:30 |
B
/-4
REH 4m39
R B
IERL B o - K % T4 -1- -2- -3- -4~ -b- —6- FoEx 5%
1 12 128| X% BE&(6) N 3.87 4.3 4.3 4. 34
T13) Hha B HRAAC +1.5 +1.2 +1.2 +1.2
2 10 175/@A 4 2= (6) = X 4.02 3.64 4.02
4th TH4 2 HAC +2.8 +0.9 +2.8
3 9 110|248 Z(6) IhNE 4.01 X 3.62 4.01
h3% 44 T8FEAFE +1.4 +1.1 +1.4
4 8 173/ &8 TEZX (6) = 3.178 3.64 X 3.78
AN AV 0t Z AAC +1.5 +1.3 +1.5
5 4 148\ =8 ## (5) = 3.50 3.58 3.71 3.1
97 #¥ £ MAJSC +0.8 +0.8 +0.7 +0.7
6 5 123 | 5kJE £38 (5) N 3.30 3.30 3.57 3.57
#n7 ht B3 IRAGAC +1.1 +0. 6 +0.5 +0.5
7 7 125|418 RER (5) IhNE 3. 51 3.28 3.33 3.51
#I% HA° i B HRAAC +0.7 +1.0 +0.7 +0.7
8 11 17158 &% (5) IhNE X 3. 51 3.25 3.51
it 93 EHHEE +2.0 +0.7 +2.0
9 3 104|154 &H1E () IhNE X 3.17 3.15 3.17
NEF NV T&F1E A +1.1 +1.5 +1.1
10 1 1743 L (6) = X 3.14 2.89 3.14
R 2 HAC +1.1 +1.2 +1.1
11 2 1371 BT #1E(6) = 2.96 X X 2.96
Y4 TYh EMAJSC +1.5 +1.5
6/ 154 /&K BF(5) =2 X X X L
AFEM Y3 EFMRJSC




INET-2-3F X%

g T0H8H __14:30]
TR « «
I —
I A I MR
R
IERL B o - _ IAEE (3‘;’% J g4 -1- | -2- | -3- | -4- | -b- | -6- FoEx ik
1 5 129 S1E INEE
1% 7'lém " $J?E#;’RA&AC 9.8 0 0 19.08
2 4 12[fE2/K NINE 3 INE
WT a1y o ‘%’HAC 0 [17.38 0 17.38
3 6 13BFI® # N
7__“};7] n () ‘fT.EﬂPU‘L\ X 0 12.57 12.57
4 2 143548 #1EQ N
5 THh EJSC 0.4t 0 X 10. 41
5 7 131 EEk BE () Ih
¥ lxg( ) {T_Eﬁ}j -4 X 9.97 0 9.97
6 1 M7|%7] #Q INF
£ F5 14 BE57 0 0 9.25 9.25




INFE4-5-65F %

RE 10H8H 1430 ]
I Yy IF IR
R B
JILEE]L §it?3‘i5 T‘J/;”1—4 g EEEﬁ (5;@. — FiiE4 —01— 35—22—5 —03— -4- | -5- | -6- 32&2}5 &=
Ny 4 b HE)57 | -
210 112 2’{,,‘\'; Eif;12(6) ?ngza$ X 3465 0 34. 65
z 1? 1‘7’? E%‘i ;i;(é)(‘” ﬁ%FzER$ 0 0 3222 32.22
i = ¥
{15 17 4 RE)HE | -
6 1 119 f%;:ﬂ; ﬁE(G) %Efm“ 21 07 0 0 24.07
A A, 7S i
IOk re: L HJSC : :
9 8 108#;#; Tﬁgiu) ?z;??&a$ 079 o . 0,70
10 3 118;%-}:?}[7%?};4) %ﬁﬁf 1940 0 0 19. 40




	決勝記録一覧表
	100
	200
	800
	100H
	4000R
	中100
	中2000
	中4000R
	小60
	小100
	小1000
	小4x800
	HJ
	PJ
	LJ
	SP
	DT
	JT
	中HJ
	中PJ
	中LJ
	中SP
	小LJ
	小低JB
	小高JB
	表紙
	Sheet1


